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General I tructions : (3)
ral Ins 2628

y s ar
() Al questions are compy g,
(i) There are 85 questions i
(i) This question paper has five Sepi
Section-D and Section.g_,; ”L octions Section-A, Section-B, Section-C,
' b ooritnin 18 hese Sections are compulsory.
(iv) Section: MCQ of 1 mark each
on-B contain 7 very g )
Secti . ery short answer type questions of 2 marks each.
section-C contain S short answer type questions of 3 marks each.
Section-D contain 3 long answer type questions of 5 marks each.

Section-E contain 2 case study based questions of 4 marks each.

e internal choice has been provided

5 (v) There 1S no overall choice. However, som
empt only one of the choice in such

n Sections-B, C, D and E. You have to att
: question. '
. (vi) Uses of Calculator is not permitted.
grg - A
SECTION-A

(e 9)

(Multiple Choice Questions)

m%wwwﬁm%nﬁsmﬁmgﬁm

1

1. % X REH & 2 m/s? ¥

M 7
(A) 10#R (B) 25 W
©) SOfﬁE'( (D) 100 "X
A car ,;éééle;'ated from rest at 0 m/s?. How far will it travel in 5 second ?
r | W e (B) 25m
P . g ‘(D) 100 m -
| p.T.0.
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(4)

(A)  2nr i (B) 2z

(C) nr (D) 9=

A particle completes circular path of radius r displacement of particle will be
(A) 2nr (B) 2n

(C) =r (D) zero

WWWW%AW»WW.WWWWWW% T A 2

30° 7 ... 00000
(A) 45° (B) 60°
(C) 75° (D) 90°

The angles of projection for which a projectile

range, are 30° and ........... o s
(A) 45° i T -  (B) 60°

(C) 75° : ’ (D) 90°

el fve T 7@ 7w 9 2, & o e dan B

(A) % (B) %
©) F i D) T

If external force on a body is Zcro? ifs acceleration is :
(A) -};— il B =
(C) F (D) Zero

covers the same horizontal
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of 10 N. Calculate the friction force :

() o @ E

(5) 2628

.2%5@%3@%‘1‘(ION%WQSW%WEQWW%WWW
mmwﬁmm ' 1

(A) LN (VB)‘ 5N
(C) 10N (D) 20N

A 5.kg block is pulled over a surface with a friction coefficient of .2 with a force

A 1N (B) 5N

(C) 10N (D). 20 g

o Recium ae @ Bk 75 3m/s @ am%wﬁrm’&ﬁ%,wﬁ et ot AN G 7
w 6% ®)"e T e

(D) 27
g at a velocity of 3m/s?

(€ 187

What is the kinetic energy of a 2 kg object fnovin

(a) 6J o (B) 9
(C) 18J ‘ (D) 27Ty |
7] T il 7 Fﬁfﬂgﬁ Rafe o
@ Ry

o) A

nservative force does positive work on a body,

o5 3¢ aeel o

When a co the potential energy of

the body :

(A) - increases B) -deé‘\reases

(C) réemains unaltered %(D) . I_Ndn'e i
p. T.O.

- Downloaded from Wi .ccichapter.com




8. ?ﬁﬁﬁﬁamﬁmmé%mu$ﬁWEWﬂmqm
(A) o & | (B) el &
(C) oRaRT e B ) HE TS

ity with i asi spth fro
Value of acceleration due to gravity W1t11 increasing dept
(B) decreases

m earth surface -

(A) increases

(C) remains unaltered (D) None
9. W%W(T)W%W{ )
(A) TaR? (B) TocR
(C) TaRY? (D) ToR*?
According to Kepler's law of peridd‘ (T) :
(A) ToaR? ; M. (B) Ta R3
(C) TaRY? ! (D) Ta R3/2
10. ﬁlomwmﬁm 1%@@@%&3% % O & TEEBy gq 3
T X ‘ S <
(A) 6.67 x 107! N i S ® 6.67 x 1071° N
(C) 6.67 x 10°N f' ' (D) 6.67x10°N"

Two 10 kg masses are separated by a distance of 1 metre. Calculate the
gravitational force between them :

(A) 6.67 x 1071 N ¢ f y (B) 6.67 x 10—10 N EN;

(C) 6.67 x 10°N ' (D) 6.67x10°N
11.uﬁwmﬁ@aﬁmmﬁmwﬁ,ﬁrwﬁv—wmméﬁﬁm: ‘

(A) & (B) @M

(C) T (D) &R I

If a wire is stretched to double of its length, then its 'Young's Modulus °f
Elasticity will be :

(&), palr { (B) Same
(C) Two times

Nl (D) Four times
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13.

14.

;
) 2628

g A . ,
’ 1

(&) 1:2 B 2:1

(D) 4:1

(C) 1:4
. 1. What is the ratio of excess-

Two soap bubbles have radii in the ratio 2

pressure inside them P A

B 2:1

A) 1:2
© 1:4 _ ; ::(vjj) 4:1
maﬁ@nﬁ%%ﬁﬁmﬁmww% 1
(a) T S BIE BT
Cc) g8 i ; / (D) g @ S
After terminal velocity is reached the\g&ééiératioﬁ of a body falling through 2
viscous fluid is :

() zero (B) " equalto g

/ '(C) less'than g (D) ) greéter than g
s s Al % L 1
W R T D Fwmw
©) R T 'WMWmem
An adiabatic process occurs at constant;: ; F '
(A) Temperature | !& (B) .P-réssﬁ.'ur'e
(C) jgicat: : | }f (P) Temperature and Pressurce

2628
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15.

16.

(8)

Rreiefes W% 599 (vo o 15, 16, 17 1 18) ¥ & &
ﬂgwm%ﬁum*@e ), (B), (© 9 () ¥ & 9

(A) (&) AR (R) A g ¥ R (R), (A) B T e &
(B) (A) R (R) A & ¥ &K (R), (A) B T = w8l
(©) (A) &= ¥ Wy (R) oA B o

(D) (A) 39F B AR (R) ﬂfﬁm%

Two statements are given below in each question (Questlon No. 15, 16, 17 &
18) : One labclled Assertion (A) and the other labelled Reason (R).

Select the correct answer to these questions from the\ Codes

: (A), (B), (C) and
(D) are as given below':

g '2‘ i i
(A) Both (A) and (R) are true and (R) is the correct explanatmn of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is truc but (R) is false. g

(D) (A) is false and (R) is also false.

S (A) : TAR ¥ A P A AN & G A o ¥
FR (R) : M%MWWWQW%

Assertion (A) : Air quickly leaking out of a balloon becomes cooler.

Reason (R) : The leaking air undergoes adiabatic expansion

fpe (A) : B SR T Sl & A G w9 2 :
HR (R) : WWW%WWWWW%WWWW
, ‘W%WH@HWWW%I

Assertion (A) : Work and heat : are two equwalent form of energy,

Reason (R) ‘Work 1is the transfer of mechanical energy

v 1rrespect1ve of
temperature dlfference whereas heat is the transfer of thermal

energy, because of: temperature differenc

S ‘nly
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17. SR (A): @ B A wghy § gea orad AT A E
FRT (R) : RS i Ri@H 1 de adem @< onad M B AR o ey 5 |
LBl 7 337!

Assertion (A) : All small oscillation ar¢ simple harmonic in nature.

Reason (R) : Oscillation of spring block system are always simple harm
> nic,

whether amplitude is small or large.

18. SR (A): A% Ae Ry orad e &
FRT (R) Wmﬁvﬁmswmﬁaaﬁaﬁa@?ﬁ%l

Assertion (4) : An oscillatory motion is necessarily periodic.

Reason (R) : A simple harmonic motion is necessarily oscillatory.

| g - F
SECTION - B

(crfreTg, ST )

(Very Short Answer Type Questions)

19. ﬁ;aﬁmasrﬁwqqpmbﬁctzmﬁmwaﬁﬁt
xﬁaﬁ%:aaﬁtba%ﬁmammn N

The displacement x of a particle is given by x =
second and displacement X is in metre. Find dimension of a and b.

‘a+ bt+ ct?, where tis ime in

aﬂasﬂaﬁmm,m%m(m)aﬁww

a7 T R A @ AT
(g)WﬁﬁTm%lmﬁﬁﬁmﬂmmgﬂ%Wm%mqﬂw
2

Fifora

Suppose that the period
its length (I), mass of the bob (m) and' acceleration due to gravity (9)

. 'expression for its ti

(T) of oscillation of the simple pendulum depends on

. Derive
me period Using method of dimensions
% W ¢




(10) 2628

21, T i a3 R ot R A A

‘ iablc force.
Derive the work-energy theorem for a varia

iy I
ﬂﬁlﬁaﬁfﬁ?ﬂaﬂ%%ﬁiﬂﬁ%’amﬁgaﬁﬂﬁﬁwﬁmﬁ?

== & s fig & a4
'Y ]lation between kinetic energy and momentum and with the help of this
a
?ttj rr1e answer, if the momentum of a llghter and heavy body are same, then
relation, er, :
K. E. of which body will bé greater 77
zz.mmmmw%?mWK%mngﬂWI 2
What is Elastic Potential Energy ? Write its mathematical formula for spring
| having spring constant K. i :
p Xl “I‘VL»},’ ‘-’ik, \ OR ;
1 : Wﬁrmm%?mm%%ﬁmmwu
What is coefficient of restltutlon ? Wr1te its value for elastic colhslon
./, e
23.gwmw%?mqﬁ$ﬁﬁl T G 2
What is Surface Tension ? erte e unlt
2

24, W%ﬂﬁﬁmﬁiﬁr ﬁmw%?

What are the two assumptlons of the kinetic theory of gases : ?

SOW@W%WWWM 107 W%naﬁmsear%mﬁ% Gl
mweﬁmaﬁaﬁvﬁfmﬁ 4 gt 2
A steel wire .50 m long has amass of 4 x 107 kg. If the wire is, under a tension

of 80 N What is the speed of Transverse Waves on the wire ? .

25.

2628 :



(11)
g -9
SECTION-C
(e T 5°)

' s
(Short Answer Type Question )

2628

" h |;| IiEI hl El I I (:] .‘i, ZJIAJQ'__: T

eration. Draw
' .« moving with a constant accel
An object 1S

r the object.
Jocity and time-displacement graphs fo
time-velo

27. TEEE My

. 2628

1 hown.
corners of a square of side L, as s .

Y
T :
m4.H_—+1-'m3
T
L 2
*—
(O, 0) « L— _

with respect to my.

Y
A
My m3
T
L
v m, | My

Downloaded from waww.cclchapter.com::

T mre——

= : = 1 g are place
Particles of masses mM; = 2g my=2g mg=1 g Tl my g

Find the. centre of mass of the

d at the

system

p. T.0.

o3

9

time-acceleration

o . % W" ,‘ "1 —;.‘ g:ﬂ_:: —‘"

-




28.

29,

30.

31.

2628
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P W e a7 P e g8 A g ST 2 @ A 3

i the he 0O
State law of conservation of angular momentum. Explain 1ts with the help of

any one example.

T B R T e S Pew Rl

State Kepler's laws of planetary motion.

g4l
OR

w%amwm%'?@,w'amm%mmmmw:

What is meant by escape velocity for a planet ? Establish expression for escape

velocity of a body from surface of earth.

mwmwﬁfﬁvaﬁm%@l;

Write three differences between isothermal process and adiatic process.

gUE - T
SECTION - D
(e srda w9e)
(Long Ansvﬁér Type Ques{ions)
@WW@GWWu%QM%W%ﬂﬁ%W%l T & IS HA
g ey SaE & foe aﬁﬁssma'mﬁl,‘ | 5

A projectile is thrown at an angle 9'f frOm the horizontal with velocity u under
the gravitational field of earth. Find expression for time of flight and maximum

height. : ¥

=
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el ceyrfire I
State law of triangle vector add1t1on and'pr‘bve eXpressi(m of resuitant

%@@TWE@,

32.
noulli's theo_rem

() 5m/s 3 @9 &
K . é?n_ ?‘ »“', ] “,-‘ i | |
ghmg-S_Célle‘ in a lift which is moving

D 7 aqﬁTqT'm@Fmﬁ eo| o

n of mass 70 kg s

A ma
g-10m/s9 5
(a) upwafds with & uniform S .
(b) Jownward with 2 uniform aCCClCratlon by 5 'm/s*.
e readmg on the scal n each case ? |
i p. 70

What would be th

2628
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gvs - 4
SECTION - E

(3 e SR FE)
(Case Study Based Questmns)

34. @—W%%ﬂﬁmwmm%I%ﬁWﬁmﬁﬁﬁﬂﬁW
ﬁﬁm%mmwmaﬁ%wmﬁmmmm%ww
Wmﬁvwaﬁfﬁﬁaﬁaﬁﬁmﬁﬁﬂﬁrwm% 3@3@@35”\
¥ g 9F & wEQd T A A &l | ‘
%—Wﬁa%aﬂﬁamwaﬁmaﬂwﬁ@wﬁ%ﬁwaﬂm
ST T B STiRE, dF mewd ol & IR iy TRy o B Tl &1 fEATTE
mﬁsw#ﬁﬁ%ﬁmﬁsmﬁwﬁﬁwz@qﬁﬁsﬁ%l .

) whemmegAmEARAE |
5 =~ o (b) 3 : _"_’7‘;-./.}-"_ |
o ‘ '(d')- 5 , e \;-‘I;;I;.;';ﬁ,_‘. : ;

(i) @Wﬁg%aﬂ%: : v 4 : |
(a) He : | (b) .

(c) O2 i | i COQ'
(iii). &A= D 2 qrae Eb_h. {".‘ | :
2

three coordma’ce axis and can h ‘
aVe three
three degree of freedom, all tranSIatlonal mdependent

2628 | TR '.




(15) 2628

s made up of two atoms joined rigidly to one

The :
molecule of a diatomic gas i
ve bodily, but also rotate about

another through a bond. This can not only mo
a , i i i
ny of the three coordinate axes. A diatomiC molecule has five degree of

freedom, three with respect to translation and two with respect to rotation

@) A diatomic moleculc has degree of freedom :
(@) 2 (b) 3
© 4 | it s
(i) The molecule of 2 noatomic gas st
(a) He ' @ H
(c) O2 @ CO2
i) Define degree of freedorm:
T OR ‘
ate law of equipartition Of energy.
mﬁnﬁ@@?ﬁ%%w—aﬂwﬁﬁ’{@ﬁ@
mmmwmeﬁgaw%W%Wal
_ aaﬁaaﬁﬁ%ﬂﬁaﬁ’(ﬁﬁfﬁ?n
=2 e od 2 g 4 FEd ¢
(i aasﬁa%ﬂmﬁérﬁa%aﬂ'{ﬁﬁem% :
o o ) SR W
(o) LI (d) ST
) g ot ame & e U Tl 3. 1
(@) o R b o
© 7 o) Y
p.T.O
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(i) TR o MR FRE Ed € 7
st

35T Qs a1 2 7 Aes Aaw A AR s

uld be in a straight line to and fro about =

(@) The motion of the particle sho

fixed point. _
port10na1 to

(b) The restoring force actmg on the particle should qlwajrs be pro
cement of the partlcle from that point. e

owards that p01nt

‘\

the displa

(c) The force should alvvays be directed t

These are the cond1t10ns of S. H. M.
always d1rected towards the equ1l1

" (b) Centmfugal force

br1um position is :

(i) Force Wthh is

(a) Centripetal force-
(c) ~Normal force : (d) Restorm"’glforce

(ii The rotation of the earth about 1ts own axis is :
(a) pcriodic motion . (b) non- pCI'IOdlC motion
(c) c1rcu1ar motion . s h(yd) linear motion

144
[}
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